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$ irb

irb(main):001:0> Thread.current. group

=> #<{ThreadGroup:0xb7d77ff0>

irb(main):002:0> tg = ThreadGroup. new

=> #<ThreadGroup:0xb7d2e3a0)
irb(main):003:0> tg. list

> 1 HETBALYRD—%
.new{sleep}
=> #i{Thread:0xb7dleel4 sleep)

irb(main):004:0> th = Thread

irb(main):005:0> th.group

=> #i{ThreadGroup:0xb7d77ff0>
irb(main):006:0> tg.add th
=> #<{ThreadGroup:0xb7d2e3a0>
irb(main):007:0> th.group

=> #<{ThreadGroup:0xb7d2e3a0>
irb(main):008:0> tg. list

1 ThreadGroup Ok

-}
ThreadGroup Z&

-

=> [#<Thread:0xb7d1eel4 sleep)>] EMIENMENTILVD
irb(main):009:0> tg.add Thread.new{sleep} =5IIENMN

=> #<{ThreadGroup:0xb7d2e3a0>
irb(main):010:0> tg. list

=> [#{Thread:0xb7d0dd1c sleep), #<Thread:0xb7dleel4 sleep)>]

irb(main):011:0> th.run
=> #{Thread:0xb7dleel4 dead>
irb(main):012:0> tg. list

—EBDALYRHERT

=> [#<Thread:0xb7d0dd1c sleep)>] JEAT=ALYRIZBENTERZE

irb(main):013:0> ||




BShdplc:-
ThreadGroup#add 721 72EfELVDISLVDT,
CALD | HHBINSLEATITH, LHEH

class ThreadGroup
def new thread(*args, &block)
tgroup = self
Thread.new(*args){|*block args|
tgroup.add Thread.current
block.call(*block args)
}
end
end

hhbhESS | ETET

tg = ThreadGroup.new
tg.new thread(1l,2,3){|*args| ... }
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Zr4A0(E) RRE FrRN) mFxD HEHGE ~LFH)
$ irb
irb(main):001:0> Thread.current. group. freeze -
=> #{ThreadGroup:0xb7d81ff0)>
irb(main):002:0> Thread.new{puts 'sub-thread’}
ThreadError: can’t start a new thread (frozen ThreadGroup)
from (irb):2:in "initialize’
from (irb):2:in "new’

from (irb):2
irb(main):003:0>




o
-~

T\

k Y7 ALYMMERISEFT L,
,.1 ERENT=ALYREISD

317 AREkIZEZIE L0
A BokZERBEWTTN?

b

¥




TALKICE
ThreadGroup




o
-~

v
-2

’k_ ThreadGroup %Z enclose 9d&
1 EOHRDOALVEICES
Bo o RLYRERRTEETS,
1; ALYRDHAVISTEE LA
b

¥




Zr4A0(E) REE FTEN @MFOD HBEG ~NFH

$ irb

irb(main):001:0> tg = ThreadGroup. new

=> #<{ThreadGroup:0xb7d01c88)>

irb(main):002:0> th = Thread.new{sleep; Thread.new{p 111; sle
ep}: sleep} T Y7 ALYRE{EBALYR 1
=> #i{Thread:0xb7cef718 sleep)

irb(main):003:0> tg.add th

=> #<{ThreadGroup:0xb7d01c88>

irb(main):004:0> tg. |ist

=> [#<Thread:0xb7cef718 sleep>] ALYKIE1{E=T

irb(main):005:0> tg.enclose ThreadGroup % enclose
=> #<{ThreadGroup:0xb7d01c88>

irb(main):006:0> th.run H7ALYRE% R

111=> #{Thread:0xb7cef718 run>

irb(main):007:0>

irb(main):007:0> tg. list il EBmMEhTLNS

=> [#<{Thread:0xb7cef718 sleep), #<{Thread:0xb7celd98 sleep>]

irb(main):008:0> Thread.current.group.add th

ThreadError: can't move from the enclosed thread group
from (irb):8:in "add’” T AbLvykRZEHICIZHBLL
from (irb):8

irb(main):009:0> tg.add Thread.new{sleep}

ThreadError: can’'t move to the enclosed thread group
from (irb):9:in "add’ T ALYRZEARDSEMTEL LN
from (irb):9

irb(main):010:0>
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